Sample Written Assessment for Management Trainee

Section 1:
English/Verbal Reasoning
Time: 25 Minutes
Items: 25
Negative Marking

English/Verbal Reasoning Questions MAY have questions of following types
Question Type 1:
Fill in the blanks with the most suitable words given at the end of the text.

NAPA, Calif. — with roads still blocked by the police and fires still raging across broad swaths
of Northern California, Matt Lenzi hiked through smoke-choked vineyards and waded the
Napa River to reach the home his father lived in for 53 years. In its place, he found only
blackened debris, blackened earth, and ash. “Every piece of vegetation was gone,” said Mr.
Lenzi on Tuesday, after going back in the vain hope of finding the pet cat that his father, Carl
Lenzi, who is in his 80s, left behind when he fled for his life. “Even the barbecue melted, and
that’s built to take heat.”

The fires ravaging California’s wine country since Sunday night — part of an outbreak of
blazes stretching almost the entire length of the state — 1 to burn out of control
Tuesday, as the toll rose to at least 17 people confirmed dead, hundreds hospitalized, and an
estimated 2,000 buildings destroyed or damaged. But state and local officials warned that with
many people still missing and unaccounted for, and some areas still out of reach of
emergency crews, those figures are almost certain to rise.

1. A. Continues
B. To continue
C. Continued
D. Has continued

Ans: Option C
Question Type 2:

The Reading comprehension is followed by questions based on the context of the
reading passage. Read the comprehension carefully and choose the best answer to
each question. The questions are to be answered on the basis of what is stated or
implied in the passage.

One of the most difficult transitions for leaders to make is the shift from doing to leading. As
a new manager you can get away with holding on to work. Peers and bosses may even admire
your willingness to keep “rolling up your sleeves” to execute tactical assignments. But as your
responsibilities become more complex, the difference between an effective leader and a
super-sized individual contributor with a leader’s title is painfully evident.

In the short term you may have the stamina to get up earlier, stay later, and out-work the
demands you face. But the inverse equation of shrinking resources and increasing demands
will eventually catch up to you, and at that point how you involve others sets the ceiling of
your leadership impact. The upper limit of what’s possible will increase only with each
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collaborator you empower to contribute their best work to your shared priorities. Likewise,
your power decreases with every initiative you unnecessarily hold on to.

1. Which of the following CANNOT be inferred from the passage?
A) A successful manager is the one who leads and delegates effectively
B) There is difference between a leader and individual performer.
C) Leader must take initiative, put his performance in front and be a firefighter whenever
needed
D) Your success as a leader depends how effectively you involve and empower others.

Ans: Option C
Question Type 3:

In the following sentences there is an underlined word or phrase. Beneath each
sentence you will see four other words or phrases, marked (A), (B), (C) and (D) select
the one word or phrase that can best replace the underlined word or phrase.

1. If Nasir would have revised his first draft, he would have received a better result.
A. would have revised
B. had revised
C. could revise
D. had of revised

Ans: Option D
Question Type 4:

Choose the answer that is most appropriate for the word highlighted in the
sentence.

1. Brazil look revitalized under Tite and the light work they made of the fiendish Conmebol
qualifying procedure was deeply impressive.

In this sentence, revitalized means:
A. Baffled

B. Lackadaisical

C. Energized

D. Withered

Ans: Option C
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Section 2:
Quantitative Section
Time: 25 Minutes
Items: 25
Negative Marking

DIRECTION: Solve each of the following problems and then indicate the correct answer on
the answer sheet by darkening either the block A, B, C, or D.

Q.1 The ratio of adult males to adult females in a party is 4: 9. The ratio of adult males to
children is 3: 2. Which of the following could not be the total number of people in the
party?

A) 47

B) 94

C) 339

D) 4700

Ans: Option C

Q.2 Two successive discounts of 10% and 12% is equivalent to a single discount of:
A) 22%

B) 2%

C) 79.2%

D) None of the above
Ans: Option D

Q.3 At the Earlos Hotel, 27 guests are in rooms having king size beds and 130 guests are in

rooms having bath tubs. If a total of 77 guests are in rooms with only a bathtub or a king
size bed, then how many guests are in rooms with both the facilities?

A) 80
B) 40
C) 20
D) Cannot be determined

Ans: Option B

Q.4 An oil tanker which contains 2,000 liters of oil delivers 1/5- of the oil to the first customer
& 4/[5- of the remaining oil to the second customer. Which of the following represents
the oil (in liters) remaining in the tank?

A) 320
B) 1280
Cc) o

D) 100

Ans: Option A
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Q5 No. of 4
Seeds

3
2
1

L 3 4 5 6 7 No. of Oranges

Based on the histogram pbove, what is the average (arithmetic mean) of the numbers of
seeds per orange?

A) 1.8
B) 2
C) 28
D) 3

Ans: Option C

Questions 6-7 relates to the following grouped frequency table:

Score 0-10 | 10-30 | 30-60 | 60-70 | 70-90 | 90-100
Frequency | 3 7 1 9 8 2
Q.6 The range of the median class for the above data is:
A) 10
B) 20
C) 30
D) Cannot be determined

Ans: Option A

Q.7 The modal class for the data is:

A) 0-10
B) 10-30
C) 60-70
D) 70-90

Ans: Option C
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Section 3:

LQ

Time: 10 minutes
Items: 10

I. Q section MAY include following question types

Type 1:

Direction Sense Test

1. Pervez is facing North and moves 20 km, then he turned to his right and moves 20 km and
then he moves 10 km in Northeast direction. Then he turned to his right and moves 20
km, and again he turned to his left and 20 km. Now in which direction Pervez is facing?

A) South-east

B) South-west
C) North-west
D) North-east

Ans:. Option A

Type 2:

Seating Arrangement

1. A, B,C, D, E and F are sitting in a row. E and F are in the centre. A and B are at the ends. C
is sitting to the left of A. Who is to the right of B?

A) A
B) D
C)E
D) F

Ans. Option B

Type 3:

0Odd one Out: Select the choice which is different from the rest
1. A)Tyre B) Speed C) Battery D) Brake

Ans. Option B
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Type 4:
Insert the Missing Number

2 3 6
IOTRCOTING]
4 5 4
A B C
1. A)78 B) 82 C) 94 D) 86

Ans: Option D

Type 5:
Select a figure from amongst the Answer Figures which will continue the same

series as established by the five Problem Figures.

Problem Figures: Answer Figures:
T O S o) -~ O 0 o)
- o % T DO S g (o) = i =’ Z = s =
. X X
X - X Cc X Cc C 4 c
1 2 3 4 5 A B C D

Ans : Option C
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Section 4:
Situational Judgement and Behavioral Questions

This Section will graded separately and differently. You might be asked to justify your answer
during next stage of the recruitment process.

The test includes 5-15 questions. Time 15 min
Each question on this test consists of:

A scenario: a description of a work-related dilemma
Instructions: change every question so please make sure to read them carefully. The
instructions are located below the scenario.

Please select the choice that best reflects your response/thoughts/believes in a given situation:
Though there could be other responses as well, but you have to select the most appropriate
choice as your probable response.

Scenario

You have an important meeting that has been scheduled with a very important client after a
lot of deliberation and hard work. A successful meeting means a lot to you and your company.
You wanted to deliver a perfect presentation and worked late at night as you were giving final
touches to the presentation. Though you placed an alarm, you woke up late and it is nearly
impossible to reach the meeting place on time.

What will you do?

A) You will call your client and tell him what happened, believing it is not any mistake of
yours. Later on you will tell your manager that client cancelled the meeting

B) You will try to reach the meeting point and will make an excuse of extraordinary
traffic jam.

C) You will call your client and tell him that you were on your way but you are now going
back as you have an emergency at home.

D) You will call your client and tell him what happened. You will feel that it is your gross
error that you didn’t plan better and tell your manager exactly what happened. You
know that your manager might fire you for this big mistake.



